ERg2 2FEILEBY I FAL—FR—ILIT T AF 4 NILFESR

FBAULY ——
F—LA 1 geavbL—s-Al2  svCHTRO—APR  #mavorsv-sm-s| $RA | B B EohE A& e
‘ 1115 15| 11
REAYTRSL—E—A 13|15 1512 3 1 1 2 : 2|54 : 33 9
1.0000 | 1.0189
2 HEE L 3 : 2|63 : 63
SVCH7RE—A 15113 19| 9 3 |1 1 1
7 |15 1.5000 | 1.0000
3 1115 15| 11
KRBV AL—8—B 12|15 9 |15 3 1 1 2 : 3162 : 63 3
15| 7 0.6667 | 0.9841




ERg2 2FEILEBY I FAL—FR—ILIT T AF 4 NILFESR

¥:&B!Y F20—h
F—L% |*  IMRSVC >  EBBA 6 ZiusSvc-A Ea | B BR tyhk R RAURE | |
11]15 9 [ 15 _ _
JMESVC 16 | 14 7115| 2 3 |1 1|20 3|38 723
1513 0. 6667 0. 8056
15| 11 15[ 10 _ _
EBBA 14|16 121151 1] 3 |1 1 3+ 3|84 12 ?
13|15 15| 5 1.0000 1.1667
1519 10119 3 - 2|60 : 58
= 1ISVCA 15| 7 15[ 12 3 |1 1 1
* 5 15 1.5000 | 1.0345




Ef22FEIEHBYIML—ER—ILIZRATANNILFES

FECYY #3a—Fk
F— L% 7 FIRE-CROSSH]II =AYV I woHrEsd |1° THE= g8 | B K R A] RAVME | IER
7 16|17 13|15
2 3168 : 69
FIRE-CROSSH)JI| 9 |19 2115113 3 1 1 4
151 9 0.6667 0.9855
8 17116 6 |15
St 15/ 9]0 7 [15 3 |1 1|2 2B g
1.0000 0.8182
: 15] 6 1513 3 . 2|68 : 56
D EZ 15| 7 11115 3 1 1 1
12115 1.5000 1.2143
10 1513 13|15
=pE= 13[15| 2 15| 11 3 1 1 3 : 3180 - 8 2
— 9 |15 15112 1.0000 0.9877




ER22HEEIEHY I —R—IILITTATA/INILTFTEES

RILDER #ERBD F2a—k
F—L4 ttyNFR|FRTYR F—L4
® 6 | 15 )
2 1151 7 | 1
#ZILSVC-A . WwHES
RILDER #ERBEQ F2a—k
F—L4 ttyNFR|FRTYR F—L4
©) 9 |15 @
FHE= 2115;6 |1 sSvco7rO—A
15 6
RJLDER R F2a2—k
F—L4 ttyNFR|FRT YR F—L4
6 |15
1 .
FLLUSVC-A 2 12 ; FHE=

125 241



